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I (a) Define Investme nt. What is the impact of inflation on the rate of return?
Explain with the help of an example. 

@)
(b) An investor wants to invest in one of the two securities having differentprobabilities but equal returtrs. Compute the expected return and risk of

both the securities. Which of the two securities is a better choice for theinvestor? (ll)

P.T.O.
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OR

(c) What do you mean by risk premium? Critically examine "It is same for all

securities"
(4)

(d) Mr. Mohan Kumar has purchased shares at the rate of Rs'70 per share five

years ago. The market price at the end of the year and dividend received

during various years are given as below:

Calculate yearly Holding Period Return for this share' Also' find the average

rate of return and variability in returns over a period of 5 years' (11)

Prob. YProb. XRetum
0.10.25
0.103l0
0.30.212
0.2o.215
0.30.118

DividendYear End Price
90I

10105)
71123
51044
61005

Year
5
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2. (a)

3

'Mutual funds work mainly on the principle of diversification". Explain with
special reference to small investors having low risk bearing capacity. (4)

@) The data of 2 securities is given below :

State of Nature I 2 3 4
Probabilities 04 0.3 0.1 0.2
Return of Asset I 18o/o l4o/o 9o/o 7Yo

Return of asset 2 28o/o 180 to% 4Yo

(i) Find the expected return of the portfolio if it comprises of 60Yo of
Asset 1 and 40%o of Asset 2.

(ii) Risk of the portfolio if the coefficient of correlation between the 2

assets is -0.78.

(iii) At what level of coefficient of correlation, the risk of the portfolio will
be minimum and what will be the risk of the portfolio in that case?

(l l)

OR

(c) What is an Efficient Portfolio? How is it arrived at in the Harry Markowitz
Model? (4)

(d) A Mutual Fund has following details of its investments and expenses along

with number of units issued by it :

Partrculars Amt. in Rs

Cash and Bank balance 6 Lacs

Debentures and Bonds 4lacs

Equiry- Shares 9 Lacs

Govemmenl Secunties 5 Lacs

Expenses 40,000

Outstanding Ftmd managers 'fees 50 000

P,T.O
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No. of units outstanding is 2,00,000. Find NAV per unit of the Mutual Fund.

Also, recalculate the NAV if a dividend of Rs 0.75 per unit is paid during

the year. $)

(e) Find out the expected return as per CAPM for the following Securities,

whose Beta values are given below:

Security I ) 3 4 5

Beta 1 t.2 1.5 1.7 2.5

Actual refurn lO o/o 1l o/" 7l o/o 9 o/o 15 o/o

Prevaililg rate of return on Government securities is 5olo whereas the rate of

retum on market index is 97o. Indicate whether each security is efficiently

priced or not? Q).

3. (a) Discuss the relationship between Interest Rate and Bond Prices. (4)

(b) A company has issued 8% bond with a face value ofRs.1000. The bond is

curently selling at Rs.900 and the its maturity period is six years. Interest

is payable semi-annually and the bond is redeemable at par. Find the following:

(D YTM of the bond using trial and error method.

(ii) If the interest is payable annually and the required rate of return for

the investor is I l7o, suggest whether he should buy this bond if it is

available at a current market price ofRs. 975? (11)

OR

(c) Discuss the various types of risks attached to Bonds. (4)
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(d)

5

A bond with a face value ofRs. 5,000 is currently available at Rs. 4,500 in

the open market. The coupon rate on the bond is l2o/o while the maturity

period is 5 years. Calculate YTM of the bond using trial and error method.

If the required rate of return for the investor is 14% and the bond is callable

in 3 years at Rs. 5200, calculate YTC of the bond using trial and error

method. Suggest whether investor should buy this bond or not based on

YTC? (11)

(a) "A technical Analysts relies heavily on past and present prices to predict

future trend". Critically examine. (4)

(b) A company's earnings are expected to grow at the rate of l8% for the first

four years. For the next two years' growth rate is expected to be l2Yo per

annum. Thereafter the company is expected to grow at the rate of 60/o p.a.

forever. The most recent EPS is Rs.4 and the dividend pay-out ratio is

50%. Calculate intrinsic value of the share if the required rate of the return

of the investor is l5%. (ll)

OR

(c) Explain the P/E ratio. What does a high P/E ratio Indicate? (4)

(d) Renew Ltd is currertly paying dividend ofRs. I per share and it is expected

to grow by 7Yo p.a. infinitely. What is the value of the share in each of the

following cases if,

(i) Equity share capitalisation rate is 10%

(ii) Growth rate decreases to 4% instead of 1%6 and

(7)

4

(iii) ROI is 15% and the retention ratio is 60%.

P.T.O
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(e)

6

Rama Ltd. paid a dividend of Rs. 2 per share. the dividend is expected to

grow at the rate of 7o/o p.a. The rate of return on treasury bills is 5% and

the expected return on NIFTY is l6%. The beta of the share is 0.8. Calculate

the intrinsic value of the share. (4)

5. (a) Short note on any three ofthe following:

(i) scoRES

(ii) Price Sensitive Information

(iii) Securities Ombudsman

(iv) Financial Engineering (3xs)

OR

(b) Consider a 3-month futures contract of PQR Ltd. The current value of its

share is Rs. 520 and continuously compounded dividend yield expected on

the underlying share is 2o/o per anntm. The risk-free rate of retuin is l0oZ

p.a. Calculate the price of one future contract if the lot size of a cotrtract is

100. (e^0.10:1.1051, e^0.02=1.0202, e^0.08:1.0832) $)

(c) A two months' call option is available at a premium of Rs. 7 and two months

put option at a premium ofRs. 5. The exercise price in both tle cases is Rs.

150. Calculate the net payoff for Mr. Dhankar who is holding both the

options- put as well as call. The Market price of the share otr the expiry

date is Rs. 130, 150, 160 and 180. Show graphically the break-even point

for a call option writer. (ll)
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r (t,') ftt{r d chflfu( dFu$ !ildR rrir cfua tr rR m ywq {sf,r t? rErrrur d
t-6imr t wrrctr (l)

(<) c-6 fitsr+, a yFil1frtr- i t r.o, i fitu cr<r qrrar *, ffi trilT{r{ ft-q *,
thT yRq-d rffi *r *t ft1fr& + flqfud yRc-d *r ulkq d rrur<r dfrsr
fr+$o. + frc +it- + t 6t{-fr ytuifr trtt ft-6-n t? (rr)

M(y") crftrdrx crft{-drv
5 o.2 0.1

l0 0.3 0.1

t2 0.2 0.3

l5 o.2 o.2

18 0.1 0.3

qT

(u) dkc fffr{c t srr6r rrn sftcrq t? nqr&=*qri{c. w i RkT d&q ft "qE

{rft nfu[Fdd * frc tart t'r (a)

(q) *qlrtgqn+d'sq{cEe zo wtvRic{d<t*RGQAfr q{* ffit
qrf,RIF *( frkrqfr * *<r<vrq rmin*+ frs wl,

q{ qqf{+q-d ilTiYr

I 90 5

2 105

3 tt2
4 104 5

5 100 6

P.T.O.
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2.

8

EH iqi + frq qffic' Akrr ffifr rFdq.fi tff rrq'<t dRqr cIE fr, s c{ fr ffih
+ cRcra * *(d Et sk nRr-d * qRrdc{krdr wo dfrsr (tt)

(o) "qwa vs :s sq t frEtftror + fralt tn 6Tq q"<t i" r o'q ilk{ qE{ 6d
* ffiarsreatfrM+friqqE{+{qrfr$r (4)

fir) z ffir1fte).qr *a *t frqr rrq l,

ffi I 2 3 4

{qe-{r( o.4 0.3 0.1 0.2

qffirrnftai 180/0 l4o/o 9/o 7o/o

qR{qft z+rffa{' 28o/o lEo/o l0% 4Yo

fltRil frr{ are dfrs

(l) nR z ce-c + fi=q r-6{qq {unfi - o.7s *, a} qt&Frfr 6r Afuc

(rii) m.ffiI {unq, * ftt w m, *tdFr& 6r dk{ ;Trd{ drn *t gt ffi
{*ddftrierulkcwr*rn? (tt)

(rr) \.6 qrra ft&lffi er tr lt qrffi€ *sd i E+ ** qrq frrn vrar *?

(r )

(v) vo'qgua .6t t Egd fr+{r ft qq t r$q-qrq Ecd anr utt E6rEq} d t@I

qT

qr ffike ft'{rsl i:
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R-flor <rRr tsqltl
q$-{*r+s+Ft{ 6lacs

R++c*rqt€ 4 lacs

qtr8r+T( 9 Lacs

v<rrtcfu[M 5 Lacs

q-+ 40,000

$<i+qr6qsrqrffq 50,000

cq-rcr Efigi fr (qr 2,o0,ooo tr qra s? fr cR E6'r€ \'{\re am dftgr
qM A, qA qf + ftrq yR tq,r€ o.zs wt ql amru ftqr qrat *, n] vryft d
SiltoHr dfrsr (a)

(s) ffifrr ctu$ril- + fts fr,sfls{ + ir1<n ankr ffi am dtuq, frm+ fta
qr*i frs rr.{1,

cftTR I , 3 4

*'ir I 1.2 1.5 t.7 2.5

qr<fttrftcf lO o/o ll o/o 11 o/o 9 o/t' |s%

<<m nfu6nt- w frr* d mfue Et s% A il(h <tvr qao.m vt frrd d E(

cx tr fir6 dfts fr qql r*o. rfu$ m Enfl-drt+q, {g Mwr frqr rrqr *
qr {&? (z)

3. (o.) erc et sk crs tft *rd + ftq t-dq vt af dRqr (a)

fe) w affi i rooo dqt + ;fr,,-c au * ur .* qE ffi fuat tr qrs Tdqrt + coo

tc+ cr frq- T6r I *r E(fr qRcffidr reD 66 q{ Br qrq Bd-qrfq, sc t tq
+ ft Ei {c1s Ei *+tu il ffifur ffi}:

P.T.O.
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4.

10

(i) qtqqr *r 1tr Ae 6r scqt{ c.cs crs 6I YrM I

(ii) qE qm <rffiqi Ec t +q t tt{ ff+nr + frq ilqse, ftd d ct nx t,

fr gfl.{ Afrs fr et s} m qrs EA-€{r urGq qe w czs q+ a T€{Fr

(rr )qrqK Tfl qt sqtrq t?

(rr) sE t @ frfi-< r*n + Akct vt s'qt dfrst (a)

(q) s,000 wtt ffiaaurratqo'qrcT6{r;r{q+qurif l,soo tvictEcim

*r ws qr qrr;r Et n% t gsfu qktrdr rsB s s{ ir qtsq utt 3E frfu ut

3q+.r qrrt cE + sr€asc A {vnr dfusr qe Airo 6 6q flrss{6. ei:+ *
rt uxt qt(qrs sqrfil szoo wlqr6idqt++{c*,+cftsq ftEEfre
qir 3q+rr 6.+ crs * qrSAfr d wnr dftqr 3ard ARs fr frt{ffi d srf,a+

* srqnwmqrsqftnrqBqqrifi? (tt)

(o,) 'vo- il+,'ffi ffis*, uBq * c-gfr fr qlM c,ti + fts ffi fltt

sfrt{{.q} w<gc ufuo, fuft c'nn *"r sqr*rnre, w t Et e.$T* fr+fir

d&cr (a)

(q) vn 6ffi * src Et qn sqI * fu tez d E( + Td+ d 3rfr? *r wr* i
scl t frs & at tzx vR q{ i* * s*e tr 3{+ qrq <irft q; r*m cx rfr

s{ d Er t e.d+ d s*q *r <nt rrfrcr tfrc( a w} t ilt EFIt{r Yn-dF qyrd

.or" 3, 6 gfurm d R-{ * imq{Tfi cr rs x t, n} *< * stdRt, tn * rtqcr

dfrqr (tt)

qT
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5.

1l

ztt

(r) frzt qvra d qrqr dfugr u-=q Qr{ qlcrfr qqr 
"*tdr 

*? (a)

(r) ft1ftffas{dffr+ r w}cRirt6ranp11** *rEd wrssqt zzyfr
qf c{+ A sr*{ *r ffikr rdo. arq+ + *m m t* wr t, qR,

(r) Efu& iR Efrriur c( rox i

(ii) Rmre < zz * ftrrr 4% lro qe qrfr t *t

(iii) qpq Et rs,u" I rk yfrqnur rSvm coz *r

(v) nar ftRls t z wt ch ftR 6r annr ftqrr iilqnr + zz yh s{ d R t gE A+
d sqq g, Sft ffi .n ft-t d cr s% * *t ffq& .R flEfud ffi rcx *r *<
qrfta o.e ir *m* aioR+,lndrrcrcrdftsr (a)

(m) ffifra + + E { *q vt rft"il M dRs:

(i) d€

(ii) aeffiaunmrt

(iii) ctutR +6qrd

(i,) A-ftq rfrtuRTr (s"s )

qI

P.T.O.
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(e) frqim ftRte + s rr0+ * qreT q<a w fun dRv' o6 trq 6 <-drm qa

seo wi t *r frHRfi *x vt sik( fr'dt rfigE EF{Iu vR'6tt 27" fr s{

*r vlfrq-tffifitfdEt toxvRq{ir* qlrwdfe ff6R roo *'*c6

<rn.aq{nqfrffi*rl![aldRqr(ert.lF1.l05l,e^0.02:1.0202'e"0.08=1'0832)
(a)

(r) i tr&* cr qfu frra z tlt * ftfrq{ q( a}t t qfi} m 5e dwm s tqt *

mqq ct 3T6irr il *i qrro] { v*t(rrs Ti[ rso tqt tpn q'{6.( * frs g.a

grr<mfr rror* dFuv, u) fi frqrJr - 5r ak afa fit d unur m G tr nqlk

Rfr qt tlt c,I qton TFt 130, lso, 150 ak reo tG il qia frr+rrra * Rs

i6-tfi dre 6) fremq, tq t srfrtr (tt)

*

coLt

Ner

,

(300)

?De


